
 

 
  

  
 Parts List 
 P1910E-EN 
 REV G l 2025-01 

 
 

 
 

 1Z(…), 2Z(…), 3ZB, 4ZB 
 Straight Drive 

  

 

  

 
  

For additional product information visit our website at www.ClecoTools.com 
  



 

 

2 P1910E | REV G l 2025-01 Apex Tool Group 
  

Copyright © 2025 Apex Brands, Inc. All rights reserved. 

  

Disclaimer 
Apex Tool Group reserves the right to modify, supplement, or improve this document or the product with-
out prior notice. 
  

Trademark 
Cleco is a registered trademark of Apex Brands, Inc. 
  

Apex Tool Group 
670 Industrial Drive 
Lexington, SC 29072 
USA 

Manufacturer 
Apex Tool Group GmbH 
Industriestraße 1 
73463 Westhausen 
Germany 
  



 

About this Document 

  

 

 

Apex Tool Group P1910E | REV G l 2025-01 3 
  

1 

EN 
  

 
1 About this Document 

This document is intended for qualified employees responsible for installation and maintenance (adminis-
trators, installers, maintenance technician, service, operator). 
It contains information on using the component. 

The original language of this document is German. 
  

 
 Caution 

Risk of injury/property damage 
This document does not provide sufficient information on the replacement/installation of the component 
in the spindle. Faulty installation can influence the calibration values or the rundown result. Faulty run-
down results can lead to injuries and/or material damage. 
► Only replace the component after the safety notes in the Assembly Instructions and Maintenance 

Instructions have been read and fully understood. 
  

Other Documents 
Number Document 

P1916E Assembly Instructions – Fixtured Spindle BTS Series 

P1921E Maintenance Instructions – Fixtured Spindle BTS Series 

P2578WA Maintenance instruction – Fixtured Spindle BD Series 

P2579MA Assembly Instructions – Fixtured Spindle BD Series 

P2594MA Assembly Instructions – Fixtured Spindle BTi Series 

P2595WA Maintenance Instruction – Fixtured Spindle BTi Series 

P2610KA Quick guide Assembly Floating Adapter- BD BTS(i) 

P2613DB Technical Data – Chuck – BD, BTS, BTi 

P2636MA Assembly Instructions – Fixtured Spindle BDE Series 

P2637WA Maintenance Instruction – Fixtured Spindle BDE Series 



Assembly 1ZB – 927222 / 53 Nm 

 
  

 

 

4 P1910E | REV G l 2025-01 Apex Tool Group 
  

2 

EN 
  

 
2 Assembly 1ZB – 927222 / 53 Nm 

 

Fig. 2-1 
  

Item Order No. Quantity Description Dimension 

1 902034 1 Circlip 12.0 × 1.0 

2 916804 1 Support washer 12.0 × 18.0 × 1.2 

3 901602 1 Circlip 24.0 × 1.2 

4 927784 1 Angular ball bearing 12.0 × 24.0 × 17.5 

7 926448 1 Spindle hsg. asm.  

8 800178 1 Needle sleeve 19.05 × 25.4 × 19.05 

9 925236 1 Seal shaft 19.05 × 28.65 × 4.78 

10 901308 4 Cap screw M6 × 20 

11 935500 1 Drive spindle  

12 926638 1 Snap ring  

13 926627 1 Union nut  

Tab. 2-1 
  

See Lubricants



 

Assembly 1ZC – 944755PT / 12 Nm 

  

 

 

Apex Tool Group P1910E | REV G l 2025-01 5 
  

3 

EN 
  

 
3 Assembly 1ZC – 944755PT / 12 Nm 

 

Fig. 3-1 
  

Item Order No. Quantity Description Dimension 

1 902034 1 Circlip 12.0 × 1.0 

2 916804 1 Support washer 12.0 × 18.0 × 1.2 

3 901602 1 Circlip 24.0 × 1.2 

4 927784 1 Angular ball bearing 12.0 × 24.0 × 17.5 

7 926448 1 Spindle hsg. asm.  

8 800178 1 Needle sleeve 19.05 × 25.4 × 19.05 

9 925236 1 Seal shaft 19.05 × 28.65 × 4.78 

10 901308 4 Cap screw M6 × 20 

11 944756PT 1 Drive spindle  

12 926638 1 Snap ring  

13 926627 1 Union nut  

Tab. 3-1 
  

See Lubricants



Assembly 2ZB – 927227 / 200 Nm 

 
  

 

 

6 P1910E | REV G l 2025-01 Apex Tool Group 
  

4 

EN 
  

 
4 Assembly 2ZB – 927227 / 200 Nm 

 

Fig. 4-1 
  

Item Order No. Quantity Description Dimension 

1 933818  1 Circlip 20.0 × 1.2 

2 903474  1 Shim ring 20.0 × 28.0 × 2.0 

4 920543  1 Circlip 37.0 × 1.5 

5 935550  1 Angular ball bearing 20.0 × 37.0 × 1.5 

6 918053  1 Needle sleeve 22.0 × 28.0 × 20.0 

7 926441  1 Seal shaft 22.22 × 31.75 × 4.7 

8 935547 1 Spindle hsg.  

9 900008  4 Cap screw M8 × 30 

10 935545  1 Drive spindle  

11 926716 1 Snap ring 44.5 × 2.0 

12 942735PT 1 Union nut  

Tab. 4-1 
  

See Lubricants



 

Assembly 2ZC – 944757PT / 110 Nm 

  

 

 

Apex Tool Group P1910E | REV G l 2025-01 7 
  

5 

EN 
  

 
5 Assembly 2ZC – 944757PT / 110 Nm 

 

Fig. 5-1 
  

Item Order No. Quantity Description Dimension 

1 933818  1 Circlip 20.0 × 1.2 

2 903474  1 Shim ring 20.0 × 28.0 × 2.0 

4 920543  1 Circlip 37.0 × 1.5 

5 935550  1 Angular ball bearing 20.0 × 37.0 × 1.5 

6 918053  1 Needle sleeve 22.0 × 28.0 × 20.0 

7 926441  1 Seal shaft 22.22 × 31.75 × 4.7 

8 935547 1 Spindle hsg.  

9 900008  4 Cap screw M8 × 30 

10 944758PT 1 Drive spindle  

11 926716 1 Snap ring 44.5 × 2.0 

12 942735PT 1 Union nut  

Tab. 5-1 
  

See Lubricants



Assembly 3ZB – 927233 / 300 Nm 

 
  

 

 

8 P1910E | REV G l 2025-01 Apex Tool Group 
  

6 

EN 
  

 
6 Assembly 3ZB – 927233 / 300 Nm 

 

Fig. 6-1 
  

Item Order No. Quantity Description Dimension 

1 914957 1 Circlip 25.0 × 1.2 

2 932209  1 Shim ring 25.0 × 35.0 × 1.5 

3 901389  1 Circlip 47.0 × 1.75 

4 914837  1 Support washer 37.0 × 47.0 × 2.5 

5 200420  1 Ball bearing 25.0 × 47.0 × 12.0 

6 935584 1 Spindle hsg. asm.  

7 926860  2 O-Ring 64.0 × 2.5 

8 912094  1 Needle sleeve 30.0 × 37.0 × 26.0 

9 927959  1 Seal shaft 30.0 × 40.0 × 7.0 

10 900001  3 Cap screw M8 × 25 

11 935583  1 Drive spindle  

12 926745 1 Snap ring 61.6 × 2.0  

13 926756 1 Union nut  

Tab. 6-1 
  

See Lubricants



 

Assembly 4ZA – 927236 / 660 Nm 

  

 

 

Apex Tool Group P1910E | REV G l 2025-01 9 
  

7 

EN 
  

 
7 Assembly 4ZA – 927236 / 660 Nm 

 

Fig. 7-1 
  

Item Order No. Quantity Description Dimension 

1 914431 4 Cap screw M10 × 30 

2 927659 4 Retaining washer 10 

3 918145 1 Seal shaft 25.0  × 47.0 × 7.0 

4 928323 1 Flange asm.  

5 914953 1 O-Ring 62.0 × 2.0 

6 914952 1 Ball bearing 25.0 × 62.0 × 17.0 

7 926807 1 Guide shaft  

8 916644 1 Bushing  

9 916662 1 Needle bearing 50.0  × 62.0 × 25.0 

10 914953 1 O-ring 62.0 × 2.0 

11 926461 1 Spindle hsg. asm.  

12 917198 4 Cap screw M10 × 40 

13 916921 1 Cylinder roller bearing 35.0 × 62.0 × 20.0 

14 912078 1 Seal shaft 35.0 × 47.0 × 7.0 

15 916647 1 Supporting ring asm.  

16 901556 1 Circlip 62.0 × 2.0 

17 912047 1 Guide bolt  

18 942035PT 1 Compression spring 1.5 × 7.0 × 159.3 
  

See Lubricants
See Lubricants



Assembly 4Z1250A – S976950 / 1250 Nm 4Z1600A – S976951 / 1600 Nm 

 
  

 

 

10 P1910E | REV G l 2025-01 Apex Tool Group 
  

8 

EN 
  

 
8 Assembly 4Z1250A – S976950 / 1250 Nm 

4Z1600A – S976951 / 1600 Nm 

 

Fig. 8-1 
  

See Lubricants

Extra equipment



 

Assembly 4Z1250A – S976950 / 1250 Nm 4Z1600A – S976951 / 1600 Nm 

  

 

 

Apex Tool Group P1910E | REV G l 2025-01 11 
  

8 

EN 
  

 

Item Order No. Quantity Description Dimension 

1 917183 4 Cap screw M12 × 100 

2 S976943 1 Gear case  

3 901654 1 Circlip 25.0 × 1.2 AR 

4 901556 2 Circlip 62.0 × 2.0 IR 

5 926856 1 Ball bearing 25.0 ×62.0 × 17,0 

6 S976941 1 Pinion gear  

7 915968 1 Circlip 75.0 × 2.5 AR 

8 922913 1 Retaining ring 40.0 × 2.5 AR 

9 914434 3 Ring  

10 914450 72 Needle roller 1.5 × 15.8 

11 S976942 3 Idler gear  

12 914434 3 Ring  

13 S976973 3 Idler gear bolt 10.1 × 59.0 

14 S976944 1 Gear cage  

15 918102 1 Ball bearing 60.0 × 110.0 × 22.0 

16 917814 1 Circlip 60.0 × 2.0 AR 

17 S976945 1 Drive spindle  

18 922913 1 Retaining ring 40.0 × 2.5 AR 

19 942035PT 1 Compression spring 1.5 × 7.0 × 159.3 

20 912047 1 Guide bolt  

21 S976961 1 Gear case asm.  

22 901682 4 Cap screw M12 × 35 

23 S904474 2 Cylinder roller bearing 50.0 × 90.0 × 20.0 

24 912711 2 Seal shaft 50.0 × 62.0 × 5.0 

25 S976971 1 Supporting ring asm.  

26 S900377 1 Circlip 90.0 × 3.0 IR 

277 See table    
  

Attachment Order No. 27 
 

4Z1600A S976951 S308441 1/½" 

4Z1250A S976950 S976956 1" 

Tab. 8-1 
  



Assembly 4Z2800G – F900750 / 2800 Nm 

 
  

 

 

12 P1910E | REV G l 2025-01 Apex Tool Group 
  

9 

EN 
  

 
9 Assembly 4Z2800G – F900750 / 2800 Nm 

 

Fig. 9-1 
  

See Lubricants



 

Lubricants 

  

 

 

Apex Tool Group P1910E | REV G l 2025-01 13 
  

10 

EN 
  

 

Ref Number Qty Description Dimension 

1 F900760 8 countersunk screw M 10 × 130 

2 F900754 1 gear case  

3 901654 1 circlip 25.0 × 1.2 AR 

4 901556 2 circlip 62.0 × 2.0 IR 

5 926856 1 ball bearing 25.0 × 62.0  × 17.0 

6 F900752 1 pinion gear  

7 917821 1 circlip 90.0 × 3.0 AR 

8 F900761 1   

9 F900759 3 washer  

10 F900757 45 needle roller 1.5  ×  15.8 

11 F900751 3 idler gear  

12 F900759 3 ring  

13 F900756 3 idler gear bolt 10.1  ×  59.0 

14 F900753 1 gear gage  

15 S901575 1 ball bearing 100.0 × 50.0 × 24.0 

21 F900755 1 gear case asm.  

22 903828 4 cap screw M14 × 80 

23 S904474 2 cylinder roller bearing 50.0 × 90.0 × 20.0 

24 912711 2 seal shaft 50.0 × 62.0 × 5.0 

25 S976971 1 supporting ring asm.  

26 S900377 1 circlip 90.0 × 3.0 IR 

27 F900758 1 washer  

28 915358 4 countersunk screw M5 × 10 

29 917622 2 cylinder pin 8.0 × 55.0 
  

10 Lubricants 
Order No. Packaging Unit 

[kg] 
Designation 

DIN 51502 / ISO 3498 
KLÜBER LUBRICATION 

933027 1 KP1K Microlube GL2611 
  

 
1 Initial lubrication Apex Tool Group 



 

 
 

POWER TOOLS SALES & SERVICE CENTERS 
 
Please note that all locations may not service all products. 
Contact the nearest Cleco® Sales & Service Center for the appropriate facility to handle your service requirements. 
 
 

 Sales Center 

 Service Center 
 
 
  

NORTH AMERICA | SOUTH AMERICA   
 

DETROIT, MICHIGAN   
Apex Tool Group 
2630 Superior Court 
Auburn Hills, MI 48236 
Phone: +1 (248) 393-5644 
Fax: +1 (248) 391-6295 

LEXINGTON, 

SOUTH CAROLINA   
Apex Tool Group 
670 Industrial Drive 
Lexington, SC 29072 
Phone: +1 (800) 845-5629 
Phone: +1 (919) 387-0099 
Fax: +1 (803) 358-7681 

MEXICO   
Apex Tool Group 
Vialidad El Pueblito #103 
Parque Industrial Querétaro 
Querétaro, QRO 76220 
Mexico 
Phone: +52 (442) 211 3800 
Fax: +52 (800) 685 5560 

  

  

 
 
  

EUROPE | MIDDLE EAST | AFRICA  
 

 

GERMANY   
Apex Tool Group GmbH 
Industriestraße 1 
73463 Westhausen 
Germany 
Phone: +49 (0) 73 63 81 0 
Fax: +49 (0) 73 63 81 222 

HUNGARY   
Apex Tool Group 
Hungária Kft. 
Platánfa u. 2 
9027 GyörHungary 
Phone: +36 96 66 1383 
Fax: +36 96 66 1135 

   

  

 
 
  

ASIA PACIFIC   
 

AUSTRALIA   
Apex Tool Group 
519 Nurigong Street, Albury 
NSW 2640 
Australia 
Phone: +61 2 6058 0300 

CHINA   
Apex Power Tool Trading 
(Shanghai) Co., Ltd. 
2nd Floor, Area C 
177 Bi Bo Road 
Pu Dong New Area, Shanghai 
China 201203 P.R.C. 
Phone: +86 21 60880320 
Fax: +86 21 60880298 

INDIA   
Apex Power Tool Trading 
Private Limited 
Gala No. 1, Plot No. 5 
S. No. 234, 235 & 245 
Indialand Global 
Industrial Park 
Taluka-Mulsi, Phase I 
Hinjawadi, Pune 411057 
Maharashtra, India 
Phone: +91 020 66761111 

JAPAN   
Apex Tool Group Japan 
Korin-Kaikan 5F, 
3-6-23 Shibakoen, Minato-Ku, 
Tokyo 105-0011, JAPAN 
Phone: +81-3-6450-1840 
Fax: +81-3-6450-1841 

KOREA   
Apex Tool Group Korea 
#1503, Hibrand Living Bldg., 
215 Yangjae-dong, 
Seocho-gu, Seoul 137-924, 
Korea 
Phone: +82-2-2155-0250 
Fax: +82-2-2155-0252 

  

 

 
  

0125 | Cleco is a registered trademark of Apex Brands, Inc. | © 2025 

Apex Tool Group, LLC 
Phone: +1 (800) 845-5629 
Phone: +1 (919) 387-0099 

Fax: +1 (803) 358-7681 
www.ClecoTools.com 

www.ClecoTools.de 
  


	1 About this Document
	2 Assembly 1ZB – 927222 / 53 Nm
	3 Assembly 1ZC – 944755PT / 12 Nm
	4 Assembly 2ZB – 927227 / 200 Nm
	5 Assembly 2ZC – 944757PT / 110 Nm
	6 Assembly 3ZB – 927233 / 300 Nm
	7 Assembly 4ZA – 927236 / 660 Nm
	8 Assembly 4Z1250A – S976950 / 1250 Nm 4Z1600A – S976951 / 1600 Nm
	9 Assembly 4Z2800G – F900750 / 2800 Nm
	10 Lubricants

